[bookmark: _GoBack][image: ]
image1.png
E2RMN IERTERME

kdusuan

e e
3¥3 = 5+4= 9-0= 10-6 =
0+7= 3+47= 8-4= 5-5=
10-8= 941 = 7-5= 11-1=
10+5= 12+6 = 10+9 = 13 +4 =
5+7= 6+9= 8+8= 9+9=
14 -4 = 16 -3 = 12-2= 17 -4 =
13-5= 15-4= 17 -8 = 14-7=
12-6= 14 -9 = 15-7= 13€9 =
suan yi suan

ZH—-=,
5+3+8= 1+8+2= 10-8+5=
9-3+3= 5+5-4= 61=5 +9 =
19-9-4= 11-1+3= 10+8-6=
7+5-8= 13-3+6= 8+7-6=
3+9+5= 14-7+5= 7+6 -9=

zdihuadud i tianshang hé shi de shu

SR FBEEH F AEME.

R gl
7+8=8+‘ ’ 9+4=4+‘ i 8+5=5+‘ b
A Raad Raad
5+6=U+5 7+4=d ’+7 6+7=‘ ’+d ,

angur 0 tian yi tian

A B H -,

e Q@ @




